
 
 
 
 
 

 

 

NUMBER SYSTEM & NUMBER SERIES TEST  
 

1. A man ate 100 grapes in 5 days.  Each day, he ate 6 more grapes than those he 
ate on the earlier day. How many grapes did he eat on the first day.  
xUth; xt;nthU ehSk; Ke;ija ehs; rhg;gpl;l jpuhl;irfspd; 
vz;zpf;ifiatpl 6 jpuhl;irfs; $Ljyhf rhg;gpLfpwhh;. 5 ehl;fspy; 100 
jpuhl;irfs; rhg;gpl;lhy; Kjy; ehs; mth; rhg;gpl;l jpuhl;irfspd; vz;zpf;if 
vd;d?  
a. 8   b. 12   c. 76   d. 54  

 
2. If A, B, C, D, E are Natural numbers and A + B = C, 2B = E, B + C = D, B + E = 

A then the numbers are ascending orders in.  
A, B, C, D, E Mfpait ,ay; vz;fs; kw;Wk; A + B = C, 2B = E, B + C = D, B + 
E = A vdpy; VWthpirapy; vOJf.   
a. B, E, A, C, D  b. E, B, C, A, D  c. B, C, E, A, D  d. B, C, E, D, A  

 
3. In a two digit number, the digit in the unit place is twice of the digit in the 

tenth place. If the digits are reversed, the new number is 27 more than the 
given number. find the number 
Xh; <hpyf;f vz;zpy;> xd;whk; ,l ,yf;f vz;> gj;jhk; ,l ,yf;f 
vz;izg;Nghy; ,U klq;fhf cs;sJ. ,yf;fq;fs; ,lk; khwpdhy; fpilf;Fk; 
Gjpa vz; nfhLf;fg;gl;l vz;iztpl 27 mjpfk; vdpy; nfhLf;fg;gl;l <hpyf;f 
vz;izf; fz;Lgpbf;f.  
a. 63   b. 36   c. 93   d. 39 

 
4. 0

P   is equal to  
0
P f;Fr; rkkhdJ  
a. 0   b. 1   c. -1   d. P  

 
5. To fill a tank, 25 buckets of water is required. how many buckets of water will 

be required to fill the same tank if the capacity of the bucket is reduced to two-
fifth of its present?  



xU KO jz;zPh; njhl;bia epug;g 25 thspfs; msT jz;zPh; Njitg;gl;lhy;> 
mNj msTs;s jz;zPh; njhl;bia epug;g ,g;nghOJ cs;s thspapd; 
nfhs;ssitg;Nghy; 2/5 klq;Fs;s thspfs; vj;jid Njitg;gLk;?  

a. 10   b. 35  c. 62 
1

2
  d. None of these  

 
6. Find the sum of the series : 

1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
njhlhpd; $Ljy; fhz;. 
1 + ( 1+2) + (1 +2 + 3)  + (1 + 2 + 3 + 4) + ........ + (1 +2+3+4+...... + 20)  
a. 1470  b. 1540  c. 1570  d. 1370  

 

7. Find the sum: 
1 1 1 1 1

2 6 12 20 30
+ + + +  

1 1 1 1 1 1

42 56 72 90 110 132
+ + + + + +  

$Ljy; fhz;: 
1 1 1 1 1

2 6 12 20 30
+ + + +  

1 1 1 1 1 1

42 56 72 90 110 132
+ + + + + +  

a. 
7

8
  b. 

11

12
   c. 

15

16
   d. 

17

18
 

 
8. The students of a class donated ` 5041 for Chief Minister’s State Relief Fund.  

Each student donated as many rupees as the number of students in the class.  
Find the number of students in the class. 
xU tFg;gpy; cs;s khzth;fs; &. 5041-ia Kjyikr;rhpd; khepy epthuz 
epjpahf nrYj;jpdh;. xt;nthU khztUk; jdJ gq;fhf jdJ tFg;gpy; cs;s 
khzth;fspd; vz;zpf;iff;F rkkhd njhifia nfhLj;jdh; vdpy; tFg;gpy; 
cs;s khzth;fs; vj;jid Ngh;? 
a. 64   b. 71   c. 62   d. 78 

 
9. A class starts at 10.00 a.m and lasts till 1.27 p.m. Four period are held during 

this interval. After every period, 5 minutes are given free to the students. The 
exact duration of each period is: 
xU tFg;ghdJ fhiy 10 kzpf;F njhlq;fg; gl;L 1.27 f;F Kbf;fg;gLfpwJ. 
ehd;F ghlNtisfs; cs;sJ. xt;nthU ghlNtisf;Fk; ,ilNa 5 epkpl 
Xa;T khzt khztpfSf;F  nfhLf;fg;gl;lhy; xt;nthU ghlNtisAk; 
vt;tsT Neuk; ele;jpUf;Fk;? 
a. 42 minutes  b. 48 minutes c. 51 minutes d. 53 minute 
 

10. In a classroom, if 6 students per bench are assigned to accommodate all 
students, one more bench will be required. However, if 7 students are 
accommodated per bench, there would be a space left for 5 students. What is 
the number of students in the class?  
xU tFg;gpy; XU ,Uf;ifapy; 6 Ngh; tPjk; mkuitj;jhy;> xU ,Uf;if 
$Ljyhf Njitg;gLfpwJ. 7 Ngh; tPjk; vd mku itj;jhy; 5 Ngh; cl;fhUk;gb 
,lkhdJ kPjk; tUfpwJ vdpy; tFg;gpYs;sth;fspd; nkhj;j vz;zpf;if?   
a. 30   b. 42   c. 72   d. none of these  



 
 

11. During a drought, the water level in a dam fell 3 inches per week for 6 
consecutive weeks. What was the change in the water level in the dam at the 
end of this period?  
twl;rp fhyj;jpy;> xU thuj;jpw;F jz;zPhpd; msT 3 mq;Fyk; Fiwe;J 
nfhz;L te;jhy; njhlh;e;J 6 thuq;fSf;F gpwF cs;s jz;zPhpd; msT 
vd;d?  
a. 18 inches decreased    b. 21 inches decreased 
c. 15 inches decreased   d. 24 inches decreased 

 

12. In the NEET exam, out of a total of 180 questions, Jeyanth answered 
19

30
 of the 

questions correctly and 
5

18
 of the questions incorrectly. How many questions 

did Jeyanth not attend at all? 
kUj;Jtj;Jiwapy; Nrh;tjw;F Njrpa mstpy; eilngWk; EioTj; Njh;tpy; 

nkhj;jk; 180 tpdhf;fs; cs;sd. n[ae;j; vd;gth; 
19

30
 gq;F tpdhf;fSf;F 

rhpahfTk;> 
5

18
 gq;F tpdhf;fSf;F jtwhfTk; tpilaspaj;jhy;> mth; 

tpilaspf;fhj tpdhf;fspd; vz;zpf;if vt;tsT?  
 

a. 164  b. 24  c. 20  d. none of these  
 

13. A piece of wire is 
4

5
 m long. If it is cut into 8 pieces of equal length, how long 

will each piece be? 

xU fk;gpahdJ 
4

5
 kP ePsKs;sJ. ,jid 8 rk msTs;s rpW Jz;Lfshf 

ntl;Lk; NghJ fpilf;Fk; xt;nthU Jz;bd; msT?  
a. 10 m  b. 10 mm  c. 10 cm  d. 100 m  

 
14. A water tank has steps inside it. A monkey is sitting on the top most step. (ie, 

the first step) The water level is at the ninth step. It jumps 3 steps down and 
then jumps back 2 steps up. In how many jumps will it reach the water level?  
xU jz;zPh; njhl;bapd; cs;Ns gbf;fl;Lf;fs; mike;Js;sd. xU Fuq;fhdJ 
NkNy ,Ue;J Kjy; gbf;fl;by; epw;fpd;wJ. jz;zPh; kl;lkhdJ 9tJ gbf;fl;L 
tiu cs;sJ. Fuq;fhdJ 3 gbfs; fPohf Fjpj;J gpd;G 2 gbfs; Nky; Nehf;fp 
Fjpf;fpwJ. ,t;thW Fjpj;jhy; jz;zPhpd; kl;lj;ij mila vj;jid Kiw 
Fjpf;f Ntz;Lk;?  
a. 18   b. 9   c. 13  d. 11 

 
 
 
 



15. Sixty-Five percent of a number is 21 less than four fifths of that number. What 
is the number? 

Xh; vz;zpd; 
4

5
d; gq;fpw;Fk; mNj vz;zpd; 65%-f;Fk; cs;s tpj;jpahrk; 21 

vdpy; me;j vz; vd;d? 
a. 140   b. 150   c. 135           d. 120 
 

16. There are 80 bags each bag contains 15 fruits. If a bag contains 12 fruits the 
number of bags are 
xt;nthU igapYk; 15 goq;fs; nfhz;L 80 igfs; cs;sd> vdpy; 12 
goq;fisf; nfhz;L mikf;f vj;jidg; igfs; Njit? 
a. 10  b. 100  c. 8   d.     20 
 

17. If the sum of a number and its square is 182. What is the number? 
xU vz;Zld; mjd; th;f;fj;ijf; $l;bdhy; 182 fpilf;fpwJ vdpy; me;j vz; ahJ? 

a. 15   b. 26   c. 28   d. 13  
 

Find the next term in the series.  

gpd;tUk; vz; njhlh;fspy; mLj;J tUk; cWg;igr; fhz;f.  
 

18. 177, 528, 1049, 1788, 2799, ?  
a. 4142  b. 4254  c. 3925  d. 4339  

 
19. 40, 56, 104, 184, 296, ?  

a. 432   b. 454   c. 452   d. 440 
 

20. 11, 20, ?, 74, 146, 290, 578  
a. 21   b. 31   c. 57   d. 38  
 

21. 26, 90, 306, 818, 1818, ?  
a. 3439  b. 3546  c. 3365  d. 3413  

 

22. 34, 103, 517, 3622, 39846, ?  
a. 518003  b. 518082  c. 517860  d. 518198 
 

23. 1001, 1333, 1731, 2201, 2749, ?  
a. 3338  b. 3387  c. 3376  d. 3381  

[ 

24. 1140, 1149, 1185, 1266, 1410, ?  
a. 1651  b. 1630  c. 1433  d. 1635 

 

25. 18, 48, 100, 180, 294, ?  
a. 488   b. 478   c. 418   d. 448  

 
 



26. 22, 88, 396, 1980, 10890, ?  
a. 65355  b. 65345  c. 17936  d. 65340 

 

27. 816, 714, 612, 510, 408, ?  
a. 302   b. 314   c. 306   d. 327  

 

28. 17, 27, 35, 47, 61 
a. 27   b. 35   c. 47   d. 17  

 

29. 8, 27, 71, 122, 198, 293  
a. 122   b. 8   c. 27   d. 71  

 

30. 339, 211, 123, 57, 19, -1  
a. 339   b. 211   c. 123   d. 19  

 

 

  


